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R L EEEE SETIEN | ausme
GolZatH oot = M QI U A S HXE R EIUH[F A28, D0591,
folTatd oot E M QA S B EXMEHFA), DO0159,
GolZate oot = M QI U A S X E XA EFUH[FA]_Class A, D0592,
Se|ZetHA L ot A QI H A F HKHE XM EFUH[F A _Class A-e, D0593,
GolZate oot = M QI U A S X E XA EFUH[F A _Class C, D0595,
GolZate ot = 4 QI U A S HXE XA EFUH[FA!]_Class C-P1, D0599,
GolZate oot = M QI U A S X E XA EFUH[FA]_Class C-Ple, 252 D601, SR e
GolZatH ot = 4 QI U A S X E XA EFUH[FA!]_Class C-P2, D0603,
GolZate ot = M QI Y A S X E XA EFUH[FA]_Class C-P2e, D0604,
Fe| et oot = A QS A S HAHE XM EFUH[ZF A _Class C-e, D0596,
folZat oot = M QY A S HRHE XM EFHUH[F A _Class S, D0605,
felZatd oot E M QI A S HREXHA EFUH[FA]_Class S-P, D0606,
Se| et oot = M QS A S HAHE XA EFUH[F A _Class S-R D2382
meoo| m2 FAUE SHAHEFAD), AENHY 202002.05
o s, =018, Z5Y, 3R =°= e
x7lsoz Lo
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S/ EA®B) 293 332 13.23
S Het Ao ot H I HA S HXUH[F A2 & T AHHE M (C=A-B) 141,540 117,896 -16.70
LY ~oAZH B (D) 82,492 82,989 0.60
7|&7}4  (E=C/Dx1000) 1,715.79 1,420.63 -17.20
S & (Class)8 7|&E7H4 g
C/A 7|1&E7H4 1,603.95 1,323.80 -17.47
C/A-e 7|1&E7H4 1,642.20 1,356.30 -17.41
c/C 71&E7t4 1,653.27 1,362.64 -17.58
C/C-P1 7|1&E7H4 2,032.68 1,677.87 -17.46
C/C-Ple 71&E7t4 1,828.17 1,510.02 -17.40
C/C-P2 7|1&E7H4 1,291.58 1,065.83 -17.48
C/C-P2e 71&E7t4 1,683.18 1,390.07 -17.41
C/C-e 7|1&E7t4 1,674.07 1,381.71 -17.46
c/s 71&E7H4 1,662.59 1,373.32 -17.40
C/sS-P 7|1&E7t4 1,666.63 1,377.04 -17.38
C/S-R 7|1 &7+ 1,636.23 1,351.96 -17.37
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o2

|72

=29 47|53 24 o =0t} H UCh= HOM = 3 =
A UM ZQlE HiQE 20| 0|73 st CIOIHME =t DALY BHEX| X2 S71 S5 A 243tz X2 U MU vt =2F57t= 37
Ol Mo 2 de Aoz 2Lt
0j=0] Z=0f tisff nZ =0 Bt K| MME 715t = 7H2 0, 0l= F2 7|YE2 A= W HH|EAts 25 =oista JAFLCE 00|22 2 780 1H
o 2] o EXE HERHD, QY o SH £S5 5 HO2 B R JUSLICH Bt=X| 7|AEL| FItSIE o2 p/B(F 7t kb4t H|8) ot ZAast
0 F7b Z2|0[0| 7HItE A Z A5t UCHs FolA HRojo|d OjH=E =0|1 U&L|Ch
Z3tEl 0.3 7|2 HCR Bt N g, M R, EOj0| 0|2 HE|& T Y sHE TEst A 22 YN BINQAES 0|5 SH2E XY
Hol2 = S A 71X AlZ0M O] Bt= N 7| Yol= =X0|H, £3| LHREE2 22 0|=7|YEE FEE O U= et m|otBt= X X|5=0f =57}
7|CHE LI ZtbE CIX| RSO S0t Bte X = A2 0|3 3FHO|H =72 I7tHe M2 |45t e HEE ZAore I Z7|XHel 2¢H
oM SEHQ EXto| S FAISLIC
HEE= 229 2|40 AE2f oMo e MY =0 F3t 0| Btz At Dtetd I olE2fofo|d Z=/o| e tE= MM 23t geks FAISH:=
oHH, FEoL 7ol PN HMotgte i £XH0| HE 635 S ZLHZSHH F7| Hatd 0ol M EL CH
»7|1ZHEH) =AU E
JIZHEH)FAE BE SOl AM2EREIM Zd J|EL(FBVIE) x| HEQ| 7|1ZHE FHfUES Hel & = on, HluX|=(HIX|013) datet ME9|
4atE "Hlwsto] 8 = AEL L
(B2 %)
T& 2371 2 671 2 97i =2 1270
%EIQE@J'L?;;ﬁgzﬂﬁgﬂ” -17.20 -13.81 -18.57 -20.64
(H] W X|4= CHE| b (-0.44) (-0.04) (-0.18) (-0.05)
F 3 (Class) & g
C/A -17.47 -14.31 -19.28 -21.58
(Hl x| %= CHH| 41h (-0.71) (-0.54) (-0.89) (-0.99)
C/A-e -17.41 -14.20 -19.13 -21.38
(Hl x| 2= CHH| 41h (-0.65) (-0.43) (-0.74) (-0.79)
c/C -17.58 -14.53 -19.59 -21.98
(H| x| 2= CHH| 41h (-0.82) (-0.76) (-1.20) (-1.39)
C/C-P1 -17.46 -14.29 -19.25 -21.54
(Hl x| 2= CHH| 41h (-0.70) (-0.52) (-0.86) (-0.95)
C/C-Ple -17.40 -14.19 -19.11 -21.35
(Hl x| 2= CHH| d1h (-0.64) (-0.42) (-0.72) (-0.76)
C/C-P2 -17.48 -14.33 -19.31 -21.62
(Hl x| 2= CHH| d1h (-0.72) (-0.56) (-0.92) (-1.03)
C/C-P2e -17.41 -14.21 -19.14 -21.39
(Hl x| 2= CHH| d1h (-0.65) (-0.44) (-0.75) (-0.80)
C/C-e -17.46 -14.31 -19.27 -21.57
(HlmX| 2= CHH| 41h (-0.70) (-0.54) (-0.88) (-0.98)
c/s -17.40 -14.18 -19.10 -21.33
(HlmX| 2= CHH| 41h (-0.64) (-0.41) (-0.71) (-0.74)
C/s-P -17.38 -14.14 -19.04 -21.26
(HlmX| 2= CHH| b (-0.62) (-0.37) (-0.65) (-0.67)
C/S-R -17.37 -14.13 -19.03 -21.25
(HlmX| 2= CHH| 41h (-0.67) (-0.36) (-0.64) (-0.66)
H| W X|a=(HX|OFF) -16.76 -13.77 -18.39 -20.59
)| W X| 4=(#IX|0t3): Philadelphia Semiconductor Index(KRW)(T-1) X 90% + CALL X 10%
T& == 14 = 24 2 34 2 54
Fel et oot e M QI A A S AKX} 064 2332 i i
UH[FA 28
(H| 1 X|4= CHH| (-0.05) (0.19) - -
Z 2 (Class) & szt
C/A -21.58 20.52 - -
(HlmX| 2= CHH| 41h (-0.99) (-2.61) - -
C/A-e -21.38 21.12 - -
(HlmX| 2= CHH| 41h 079 (-2.01) - -
c/C -21.98 19.34 - -
(Bl mX|2 CHH| A ah (-1.39) (-3.79) - -




C/C-P1 -21.54 20.64 - -
(H| K| 4= CHH| 43 (-0.95) (-249) - -
C/C-Ple -21.35 21.19 - -

(H| K| 4= CHH| 43 (-0.76) (-1.94) - -
C/C-P2 -21.62 - - -

(Hl x|~ Che] ot (-1.03) - - -
C/C-P2e -21.39 21.08 - -
(H|ZLX|4= CHH| A3t (-0.80) (-2.05) - -
C/C-e -21.57 20.53 - -
(H|ZLX| 4= CHH| A3 (-0.98) (-2.60) - -
c/s -21.33 21.24 - -
(H|ZLX| 4= CHH| A3 (-0.74) (-1.89) - -
C/S-P -21.26 2148 - -
(H|ZLX| 4= CHH| A3 (-0.67) (-1.65) - -
C/S-R -21.25 21.51 - -

(| K| 4= CHH| 43 (-0.66) (-1.62) - -
H| W X|==(HIX| Ot ) -20.59 23.13 0.00 0.00

Z)H| 2 X|4=(#H X|OF3): Philadelphia Semiconductor Index(KRW)(T-1) X 90% + CALL X 10%

QX HE Bof RS HIM SHY HU(TTIY) Z 7120 thelM QYA HET} RFsH KIS0l MES HOHLE S| W2t ZHEXIS Ol & 4
ol&L|C}
M H .

(221 - %)
T 2 3708 2 67h ZZ 14
O | WA Op /| QI T A S A X
#e(EEE L Cl, SRt 113 095 0.88
UH[FA 28

L oL |_—|—|_1

F) =HQAE BTN SO AHAHC L $50ts £ HEAI4+0| BES YOI SHE| GAUEAE HOIFE ABZA, BT+ 295 o o A AHES &
2t +918 AHo|o] EEWAR JITBLICE FHRAO| A7 HEH2 ST 7|2t Sot AAHET} BRI 5ot A SXASS ol0jBLich
> AN (EF9l: Bt )
iy 53 o AL E o R, PAUERX| | Lo
. =4 A2 olg | EYEA| HU e T [asxa ] Tl o= -
7| 4,557 0 0 541 0 0 0 0 0 43 477 5618
=24 -22,150 0 0 -3,523 0 0 0 0 0 53 1,147 -24,473

(=]
AMTYHY BE Sof (A2 SHIN T 7|FY(Y7IY) HM HEJF HQStD Qi RHAkO| LHYS 2 XA U SSMER SOl 4 Q&L E3 1
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